
1.36.8.22-23: Why February 29 is a Human
Illusion? 

Dear synchronauts:

The vast majority of humans live in an illusion of the mind, thinking that the
material  world is the only real  thing when deep down, it  is  the other way
around: the mental world is the only real thing. What is defined as “space” or
“physical reality” are direct consequences of the mental world. Before a body
is created with a heart, brain, organs, muscles, nerves... it  must first have
been thought, in other words, conceived.

We are a manifestation of the Law of Time (Time x Energy = Art) and when
we incarnate on this plane of existence, we accept all the inconsistencies that
have  been  projected  within  the  temporal  conceptual  field.  Assuming  the
Gregorian  Calendar  of  12  irregular  months  as  a  frame of  reference  is  a
mental program that is imposed when one is born on Earth.



The development of the Gregorian Calendar is a milestone that began about
5125 years ago, starting in the year -3113 BC. This date marks the beginning
of the 13 Baktuns or the Great Cycle of History, which at a synchronological
level  is  understood  as  the  process  through  which  the  most  advanced
consciousness of planet Earth has gone through to extend itself at a material
level and conquer it at the level of resources. The 13 Baktuns came to an end
at the close of the cycle on 12/21/2012.

Although  it  is  assumed  that  we  already  live  in  post-history,  the  12:60
frequency webs continue to impact humans who in mass use the Gregorian
Calendar of 12 irregular months as the main tool to measure time.

The  leap  day  that  is  added  every  4  years  is  just  another  adjustment  to
continue maintaining the 12:60 frequency in the minds of humans. To break
the spell of February 29, there are several points that must be clarified to
begin to awaken from the illusion:



The Earth's translation cycle with respect to the Sun can vary depending on
the  reference  point.  The  tropical  year  is  the  duration  of  one  complete
revolution of its orbit, which is 365.242198 days of mean solar time: 365 days,
5 hours, 48 minutes and 46 seconds. In this measurement, a meridian that
the Earth opposes the Sun two consecutive times is taken as a reference. On
the other hand, the sidereal year is the time that passes on Earth to pass
through the same point in its orbit, taking the stars as a reference. Its duration
is  366.256436918716 sidereal  days.  It  is  equivalent  to  365.256363 mean
solar days: 365 days, 6 hours, 9 minutes and 10 seconds.

Adding 1 day every 4 years to the solar ring is still a materialistic view of time.
It will never be accurate to say that the Earth's orbit around the Sun is 365
days and 6 hours. Even so, according to what was stated in the first point, it is
still somewhat inaccurate from the minute count. If you really want to take the
Earth's  rotation  cycle  into  account  in  an  adjusted  way,  the  following  is
proposed from the Lemnismath YouTube channel:

Por qué necesitamos años trisiestos | Las matemáticas del calendario

https://www.youtube.com/watch?v=nQgQoQqz4Nk


For those who don't know, there is a rule that says that if the number of the
year is a multiple of 100, it will not be a leap year, but if it is a multiple of 400,
it will be a leap year. The year 2000 was a leap year because even though it
is a multiple of 100, it is also a multiple of 400. The year 2100, however, in
this system cannot be a leap year.

At this point, what then is the way to awaken from this temporary illusion?

The 13:20 frequency is the galactic formula in which the synchronic order
manifests in this plane of existence. This is why humans are born with 13
major joints and 20 fingers. For its part, the Synchronary of the 13 Moons is
the most harmonious way that exists to measure 1 year of 365 days where
there is  no place for  any leap day every 4 years.  Next,  here are several
explanations  that  explain  at  a  synchronological  level  why  2/29  within  the
Gregorian Calendar does not have time codes or day for the Synchronary of
the 13 Moons:



1 – Synchronic order helps us understand the 4th dimension as a system of
integers without divisors, or in other words, without divisions of the mind. This
means  that  the  hypothetical  6  remaining  hours  of  a  cycle  of  the  Earth's
rotation around the Sun in 365 days are a form of abstraction that leads to the
distortion of the mind, adopting the planet Earth as the only important element
in the equation.

2 – Precisely, time is the sphere of the mind and to be harmonized from the
13:20 frequency it is essential to adopt the Syrian cycle as a central reference
point in the equation. The Syrian cycle is the 52 years it takes for the star
Sirius β to complete one revolution around the star Sirius α. This is one of the
main  keys  to  understanding  that  the  time  codes  are  numerological
proportions that build a fractal network of understanding (52 is the fifth part of
the  Tzolkin,  52  is  the  number  of  weeks  in  the  13  moons...).  When  we
understand that 52 years of 13 Moons + 1 day out of time correspond to 73
exact revolutions of the Tzolkin (52 x 365 = 73 x 260 = 18980 days), what
sense does it make to add 1 more day every 4 years?



3 – The synchronous year begins on 7/26 of the Gregorian Calendar because
it is when Sirius α, the Sun and the Earth align on the horizon called this
Ortho Heliaco phenomenon. Precisely, if we start counting the days from the
beginning  of  the  synchronous  year,  when  we  reach  day  28/2  within  the
Gregorian Calendar, this day corresponds to the 218th of the year.  KIN 218
White Planetary Mirror is the time code that corresponds to the day of the
opening of the tomb of Pakal Votan. This is a clear sign that there is no event
that escapes the synchronic order. 



4 – As far as is known, the month of August has 31 days when it initially had
30 and was called Sextile. This day that was added by Augustus Caesar was
extracted from the month of February when it then had 29 days. The day 8/31
within the Gregorian Calendar has the KIN 21 Red Galactic Dragon as its psi-
chrono.  The number  21 is  the one used in  many cases to  represent  the
galactic archetype of Hunab Ku. The day 29/2 of the Gregorian Calendar has
no code and is defined as Hunab Ku 0.0, which can also be understood as a
day out of time.



5 – Continuing with the study of psi-chrono units, day 28/2 of the Gregorian
Calendar  has  as  psi-chrono  KIN  164  Yellow  Galactic  Seed,  the  year  of
galactic  synchronization  (2013)  and  day  1/3  has  as  psi-chrono  KIN  168
Yellow Crystal Star. If we add these two KINs we get KIN 72 Yellow Resonant
Human, which in turn has hidden KIN 189 Red Resonant Moon, the KIN that
corresponds to Pakal Votan.



6  –  Leap  years  are  always  years  of  the  “Wizard”  seal,  the  power  of
timelessness,  and  leap  day  is  always  between  a  “Monkey”  seal  and  a
“Human”  seal.  These  are  clear  signs  that  the  Gregorian  calendar  of  12
irregular  months  is  adjusted  within  the  evolution  of  the  human,  which
transcends illusion and thus achieves timelessness. Whoever is born on 2/29,
if he does so before noon, would adopt the KIN of the “Monkey” seal and if he
does so after, the KIN of the corresponding “Human” seal.

7 – The first year of the Syrian cycle, the year of the KIN 34 White Galactic
Wizard (1987-88) the leap day occurred 34 days after the first KIN 218 White
Planetary  Mirror within  the  account  of  the  Earth  Wizards  and  precisely
between  the  KIN  251  Blue  Self-Existing  Monkey and  KIN  252  Yellow
Overtone Human. The KIN 251 Blue Self-Existing Monkey has KIN 10 White
Planetary Dog as its hidden object and this has the KIN 218 White Planetary
Mirror as its guide. Here again, clearly the opening of Pakal Votan's tomb is
present.



Without adding more for now, with all this we hope to have clarified why 2/29
does not exist within the time codes nor is there a day assigned within the
Synchronary of the 13 moons. An explanation for those who say "but hey, we
live this day the same, people are born and die, things happen..." I will say
that yes, in the physical world of illusions it is apparently lived as such on a
material level, but from the point of temporal view of the 4D dimension, the
measurement of a day is a completely human construct because from the
dimension of time there is no movement: everything is an eternal flow. The
“here” and “now” is the only real state to which we should aspire, which is the
permanence  of  consciousness  at  a  temporal  level,  or  in  other  words,
timelessness.

I  wish you the best  development  of  4D consciousness and until  the next
galactic report.

Sincerely,
Galactic Maya 999.



P.S: Today marks precisely a 52-year anniversary for the President of the
Government of the state of Spain, Pedro Sánchez, who was born precisely on
2/29. Let's hope that in some way this information can reach you so that you
can wake up from the illusion in which the vast majority of humans who use
the Gregorian Calendar live.


